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1 [#Rfep 400 [110/04/01 |A+ g PRI¥ 2 Fopgees | £ [- & =
2 |4kiez 400 |110/04/01 |A- ¢ rRax 3 Aspgees (£ |- &&=
3 |#mees 400 |110/04/01 At ¢ rRax 3 Aspgees (£ |- &g =
4 |3 400 [110/04/01 |A+§ PRAx 2 Fapgees | £ [- s =
L 400 [110/04/01 |A+ g PRAx 2 Fapgees | £ [- & =
6 |52 100 [110/04/01 [4+ & rRix % Lspfees |2 |- 4%
T |EwE 100 [110/04/01 [4+ & jRix % Lpdees [£ |- &%~
8 |Fua 100 [110/04/01 [4+ & rRix % Lspfees |2 |- 4%
9 |Emim 300 [110/04/01 |4 g PRAX 2 Aspsces |H - s =
10 575 4 200 [110/04/01 |4 g PRAX 2 Eopsces |H - & =
11 |35 4 200 [110/04/01 |4 g PRAX 2 Eopsces |E -8 =
12 |23 300 [110/04/01 |A- g PRA* 2 Eopsees |H - s =
13 |3 2,000 |110/04/01 |4+ ¢ prax 3 Lgpgers (8 |- i =
14 |grz & 10,000 |110/04/01 |A- ¢ pRas 2 Lgpfees (£ |- &&=
15 |z fla e 15,112 |110/04/01 |A: ¢ pRas 2 Lgpgees (£ |- & =
16 |54 2 1,000 [110/04/01 [+ ¢ PRAxZ2 Lipsgees |[E |[Cimpmd ~
17 5% 2 1,000 [110/04/01 [+ ¢ PRIxZ Lupdees |8 [F72 08 =
18 |37+ 4 1,000 [110/04/01 [i+ € PRA%2 Lptens |H |2 %% 2
19 |pE2 20,000 [110/04/01 [+ & PRAx2 Lipfers | (2% 2
20 |%1w 1,000 [110/04/01 [+ € PRA%2 Lptens |E |t =
21 [BEz0 1,000 [110/04/06 [+ € PRA%2 Lpfees |8 |- 4% =
22 |z 500 [110/04/06 |4+ & PRFx2 Lapdees (8 |- & =
2 | s e |00 [L10/04/06 |is g sk e | |- s
24 |& 2= 300 [110/04/06 |4+ ¢ PRI+ % A¥psees |8 [ &b =
25 |2 4% 5,000 [110/04/06 |4 € PRAx% Eepsces |E (- dxd =
26 |3E 8 R 3,000 [110/04/06 |4 € PR35 Eupgees (£ |- 4 =
21 |[# &% 1,000 [110/04/06 |4 g prir 2 Eepderes |[H |- 428 =
28 |75 4 1,000 |110/04/06 [4+ & rRix % Lapfees [£ |- 4% 2
Bt g RS
29 %%iéQ?Zéf 3,000 |110/04/06 |4t ¢ pRix% A¥psees |[£ |- &b @
30 |% % &% 750 [110/04/06 |4+ ¢ PRix 2 &pdens | L ®E -
31 |spw 1,000 [110/04/06 [4+ & rRix 2 Lepdees |[£ |k 2
32 |% %% 750 [110/04/06 |4t & FRix % Lipdees |[£ |5 s 2
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33 |=nw 100 |110/04/07 [A+ € PRA*2 Lipfees |8 |- & & &
34 |mp 100 |110/04/07 [A+ € PRA*2 Lipfees |8 |- & & &
35 |M S 100 |110/04/07 [A+ € PRA*2 Lipfees |E |- & & &
36 |MmF R 100 |110/04/07 [A+ € PRA:2 Lipfres |E |- & & &
37T |# X 100 |110/04/07 [A+ € PRA:2 Lipfees |E |- 4 & 2
38 [ E 1 300 [110/04/07 |4+ € PRFx % LEpees [H |- & =
39 [P 4 300 [110/04/07 |4+ € PRFx % LEpees [H |- & =
40 | B 300 [110/04/07 |4+ € PRFx % LEptees [H |- & =
41 |34 300 [110/04/07 |4+ € pRAx2 H¥gfres | & [- &5 =
42 | £5% 300 [110/04/07 |4+ € PRIx % LEpees [H |- & =
43 % & 200,000 [110/04/07 |4 & PRFx3% L ¥pdfees |8 |- & 2
44 |k ® 100, 000 |110/04/07 |4+ ¢ PRA%% Lapfees [H |- 4 =
45 |3 4K 200 1110/04/07 |4+ € PRAx% Espfers |H |- &5 =
46 |4RA: B 200 [110/04/07 |4+ € PRIx % LEpfees [H |- & =
47 |&R S 1,000 |110/04/07 [4+ € pRix% L ipfres |8 |- & & =
48 |#e= % 200 [110/04/07 |4+ € PRIx % LEpees [H |- & =
49 |z F 200 [110/04/07 |4+ € PRIx % LEptees [H |- & =
50 Az =% B4 200 [110/04/07 |4+ € PRIx % LEpfees [H |- & =
bl |Azik 3k 200 [110/04/07 |4+ € PRIx % LEptees [H |- & =
52 |t E i 200 [110/04/07 |4+ € PRIx % LEpfees [H |- & =
53 |F+ 2 1,000 |110/04/07 [4+ € pRix% £ ipfres |8 |R#EE =
54 B3 ¥k 500 [110/04/08 |4+ € PRIx % LEpfees [H |- & =
55 AR 7 500 [110/04/08 |4+ € PRIX 2 F pfees [ & - 4% -
56 |& 2w 30,000 [110/04/08 |4+ € PRAX 2 & pfces [ & -4 E -
57 % % & 5,000 [110/04/08 [A+ € PRF:3 & FEfTEr | H_ - E -
8 |*RE¥E£2Z 5,000 [110/04/08 [A+ € PRF:3 & FEfTEr | H_ - i E
b9 (272 ¢ 1,000 [110/04/08 |4+ € PRFX% F pfes [ & -4 E -
60 |[mZE 2z 200 [110/04/09 |4+ € PRAX 2 F¥pfees [ & - E -
61 |k 10,000 [110/04/09 [A+ € PRF:2 & FE s | - A& 2
62 [ikp A& 10,000 [110/04/09 [A+ € PRF:2 & Efcer | -4 E -
63 |& &= 300 [110/04/09 |4+ € PRIX 2 F¥pfees [ & -4 E -
64 |% & % 5,000 [110/04/09 [A+ € PRF:2 F EEfcEr | H_ - 4% -
65 (M= 330 [110/04/09 [A+- € PRIX 2 F¥pfees [ & -4 E -
66 [mE] A 330 [110/04/09 |4+ € PRIX 2 F¥pfees [ & -4 E -
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67 [mes 330 |110/04/09 |4+ & pRix % Lupgees |[£ |- i ® =
68 [z i 330 [110/04/09 |4 & pRAx % E3pfers [£ |- 4p & =
69 [me® 330 |110/04/09 |4+ & pRix % Lupgees |[£ |- i ® =
0 |FIFFR 350 |110/04/09 |it & PRix % Aspfees [£ |- & =
1 [HBEE 500 [110/04/09 |it & PRix % Aspfees [£ |- k& =
2 AL 500 [110/04/09 |A & pRAx % Eipfers [£ |- 4p & =
3 |[gmz2 500 |110/04/09 |4+ & pRi% % Lupgees |8 |- i d =
(RS 1,000 |110/04/09 |4+ € P52 Eapfers | £ |- &8 =
wFE PR 500 |110/04/09 |4+ & pRi% % Lupgees | £ |- i d =
76 |3eFd 1,000 |110/04/09 |4+ € P52 Eapfert | £ |- &8 =
T |EH % 1,000 |110/04/09 |4+ € P52 Eapfert | £ |- &8 =
8 g E 500 [110/04/09 |A- € PRix 2 L gpfers |8 |- 42 2
9 [HRETVE 500 |110/04/09 |Ax & pris 2 Lupgees |8 |- 4 ® =
80 [ k% 100 |110/04/09 [4+ ¢ PR3 % Espfees [ |- 4% =
81 |#%% - 100 [110/04/09 |4+ ¢ PRAs % Edpdees [£ |- &g 2
82 |% & 100 |110/04/09 [4+ ¢ PR3 % Lipfees [ |- 4% =
83 |% ¥ 100 |110/04/09 |4+ PR32 Eipkees (£ [- 48 2
84 [+ &- 100 [110/04/09 |4+ PRAs % E¥psees |8 |- &g 2
85 |fmik 200 |110/04/09 |4 & pRis 2 Lupgees |8 |- 4 ® =
86 |%£ P 200 [110/04/09 |4 € pRAx2 Lapsers | [- 43 =
87 |#" 1 100 [110/04/09 |4+ & PRF% % Eidpees (£ |- 48 2
88 [meHl 100 [110/04/09 |4+ & PRAs % Edpsees [£ |- &8 2
89 [¢ Am¥ 100 |110/04/09 |4+ & PRA%x % Espfees [£ [~ % & ~
90 " e 100 [110/04/09 [4+ & prixz Epdees |2 |- 48 =
91 |Feim 200 |110/04/09 |4 € pRis 2 Lupgers | £ |- 4 ® =
92 |F4HE 1,000 [110/04/09 [4+ ¢ PRF*Z L¥pgees |8 |- & &~
93 [P % 3,000 [110/04/09 |4+ & rRis 2 Lepsees |8 |- 48 2
94 |[#z 2% 3,000 [110/04/09 |4+ ¢ PRz 2 Lipsees [ [ 48 2
95 |[Em 4 3,000 [110/04/09 |4+ & pRis 2 Lepsees [£ |- 48 2
96 [% &% 3,000 [110/04/09 |4+ & rRis % Lepsees |8 |- 48 2
I ESEE 3,000 [110/04/09 |4+ & pRis % Lepsees |8 |- 48 2
98 [ % 3,000 [110/04/09 |4+ ¢ PRz Lipsens [ [ 48 2
99 |[#mik % 500 [110/04/09 |A- € pRix % Eipfers |8 |- 4p & =
100 |47 5% % 500 [110/04/09 |4 € Ris % Eipfers [£ |- 4p & =
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101 |56~ 5 250 |110/04/09 |4 ¢ PRix 2 L¥psers (£ |- & =
102 (34~ 500 |110/04/09 |4 ¢ PRix 2 L¥pseres (£ |- & =
103 |5 % ¢ 250 [110/04/09 |4- & PRix 2 E3pfers | |93 Bt
104 | % 48 250 [110/04/09 |4 € rRix 2 Lipsers |8 [BE s =
105 [ %= 500 |110/04/09 |4+ ¢ rRi%% Lipders (8 [z 2 =
106 |gnik £ 500 |110/04/09 |4+ ¢ PRix2 L¥psers (£ |2 % d =
107 |2 K4 10,000 {110/04/09 |4+ € pRis2 Eepfers |8 [z 32 =
108 [#H+ P 500 |110/04/09 |4+ ¢ pRir2 &spsces |2 |2 =
109 |§&¢r 900 |110/04/09 |4+ & PRI* % L ¥pdces (2 ﬁ;@xﬁ«, a
110 (34~ 500 |110/04/09 |4+ ¢ PRix 2 L¥psers (£ w3 d =
111 & 250 [110/04/09 |4+ ¢ PRI % £ Edces | E »a & =
112 |5& 3 500 1110/04/12 [#- € PRF% % L pfees (8 |- & E =
113 [#=w & 1,000 |110/04/12 |4 ¢ PRax 2 Epseres (R |- 4 & =
114 [#thgp 1,000 |110/04/12 |4 ¢ PRax 2 E¥psers (R |- 4 =
115 |gp~ & 1,000 [110/04/12 [4+ & pRix % &L gpferns [£ |- 42 2
116 [£4~ 500 |110/04/12 |Ar ¢ MRax % Lspgees [ |- &&=
117 |[& &= 300 |110/04/12 |A+ € pRar 2 L¥psers (£ |- 4 =
118 | #%2 300 |110/04/12 |Ar ¢ rRax % Lspgees [ |- &&=
119 | 5414 =~ 2,682 [110/04/12 |4 & PRIx% L¥pders | |- & &
120 |35 414 = » 2,438 [110/04/12 |4 € PRAx % L¥pders | |- & &
121 [+ #8723 3 58| 20,000 [110/04/12 [A+ & PRAx2 Espferes | £ |- & »
122 [%© 1,000 [110/04/12 [+ g PRIx% L¥pfres |8 |- &% =
123 |4 R 1,000 |110/04/12 |4 ¢ PRaxr 2 Epsees (R |- 4 =
124 |38 % 1,000 |110/04/12 |4 ¢ PRax 2 E¥psees (R |- 4 d =
125 [%® &% 1,000 |110/04/12 |4 ¢ PRax 2 Epseres (R |- 4 =
126 |5 i 1,000 |110/04/12 |4 ¢ PRax 2 Lpsees (R |- 4 =
127 |muazze 500 |110/04/12 |Ar ¢ rRax % Lspgees [ |- &&=
128 |z ®x 500 |110/04/12 |4t ¢ MRix % Lspgees [ |- &&=
129 [§31¢ 500 [110/04/12 |4 € pRis % Lipsers | £ |- &8 =
130 |% &A= 500 |110/04/12 |Ar ¢ rRax % Lspgees [ |- &&=
131 [He#2 500 |110/04/12 |Ar ¢ rRax % Lspgees [ |- &&=
132 |"r+ 1% 500 |110/04/12 |4+ ¢ pRar 2 Lxpsees (£ |- 4 =
133 |2 0z 500 |110/04/12 |4 ¢ pRar 2 L¥psees (£ |- 4 =
134 |m# & 500 |110/04/12 |4 ¢ pRar 2 Lepsees (£ |- 4 =
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135 |35 i 500 [110/04/12 |i+ & pRAx2 Aipfees (£ |- & =
136 |F & 3 500 |110/04/12 |4+ ¢ pRix 2 Lapseres [ |- 48 =
137 |4h3a 500 [110/04/12 i+ & pRAx2 Aipfees |8 |- & =
138 |4h- = 500 [110/04/12 |k & pRAx2 Aipfees £ |- & & =
139 |4 2,000 [110/04/12 |4+ ¢ pRAx2 Lspgems |8 [ g 2
140 |gnps g5 + 2,000 [110/04/12 |4+ ¢ pRAx2 Lspgems |8 [ g 2
141 |#sshis 2,000 [110/04/12 |4+ ¢ pRAx2 Lspgems |8 [ g 2
142 |4k " 200 |110/04/12 |4+ € pRix% Lipfers (8 [- &2 =
143 | i v 200 [110/04/12 |4+ € pRAx 2 Lgpders |8 |- & 2
144 %3 % 200 [110/04/12 |k & pRAx2 Aipfees £ |- & & =
145 |z % = 200 [110/04/12 ik & pRAx 2 Aipfees £ |- & & =
146 | R 200 [110/04/12 i+ & pRAx2 Aipfees £ |- & & =
147 M &% 200 |110/04/12 |4+ € pras 2 Lapgens |2 [- 42 =
148 |z &+ 200 |110/04/12 |4+ € prax 2 Lapgens |2 [- 42 =
149 |mZ v 200 |110/04/12 |4+ € prax 2 Lapgens |2 [- 42 =
150 %*"iﬁ% 200 |110/04/12 |4+ € pRis% Lipfers (R [- &2 =
151 |%=% % 200 |110/04/12 |A+ ¢ pRar 2 L¥psers (£ |- 4 =
152 |#F ¥ 4f 200 |110/04/12 |4+ € pras 2 Lapgens |2 [- 48 =
153 |1+ & 500 |110/04/12 |4+ € pras 2 Lapgens |2 [- 4 d =
154 |% 542 500 [110/04/12 |4+ € PRA%2 Lapsces |8 |- g =
155 |%1% 2 500 |110/04/12 |4+ € pras 2 Lapgens |2 [- 48 =
156 |54 & 500 |110/04/12 |4+ € praxz Lapgens |2 |- 42 =
157 [P # 2,000 [110/04/12 |4+ ¢ pRAx2 Eipsees |8 |- 48
158 |£+3% 3,000 |110/04/12 |4+ ¢ rRar 2 L¥pfees (£ 312 w9 & »
X 2 B W ok
159 ?‘;? REEEE 5 000 [110/04/12 [ & prinx xpgess |2 |z wn s
X 2 B W g
160 ?‘;? ’T];i;%;‘j“‘z 500 [110/04/12 A€ PRA% 2 Eapfees [ (2% % =
161 |+hift % 1,000 [110/04/12 |4 ¢ prarz Lapsees |8 [Eme =
162 |~ 5,000 [110/04/13 |4+ ¢ pRix2 Eipsees |8 |- 48
163 |#n i 2 2,000 [110/04/13 |4+ ¢ pRax2 Lspgems |8 [~ 4 g 2
164 |% 2% 1,000 |110/04/13 [ix ¢ ppax s Eapgens |2 |- %38 »
165 |2 msE 1,000 [110/04/13 [ir g prianz Aspgees |8 |- i =
166 | % B4 1,000 |110/04/13 [ir ¢ ppax 3 Eapsens |8 |- 48 #
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167 |2 2% 3,000 |110/04/13 |4+ ¢ rRix 2 Lapgers |8 |- 48 =
168 |3 47w 3,000 [110/04/13 |4 € pRAx% Lopsers |H [ 4B =
169 |w 2L A 4¢ 5,000 [110/04/13 |4+ € PRI 2 Sapscns | H |- i =
170 |#& 2 = 1,715 [110/04/13 |4+ € PRF%:2 L pfcrs |8 |- 4 & =
= 2 15 -
171 zfpg TP 000 [110/04/13 ik g b x dgpgest |2 |- ixd =
a
172 | #2 1,000 [110/04/13 [4+ € PRF%2 L pfcrs |8 |- 4 =
173 |[Fhm4F 500 |110/04/13 A+ ¢ rRsx% Eapdees [ [~ & & =
174 [H#5 ¥ 500 [110/04/13 |4+ € PRI+ % L gifees | |- i 2
175 | 1% 200 1110/04/13 |4+ € pRss2 Eepfers |8 [- w2 =
176 |5 P 47 200 [110/04/13 |A- € pRAx %2 L gpfers |8 |- 42 2
177 |3 3 200 [110/04/13 |4+ € PRAx % Lapscers | [ 4B =
178 |2 %% 500 [110/04/13 |4+ € pRAx2 Eapsers | [- 43 =
179 |& & = 215 |110/04/13 |4+ ¢ pRix 2 Lipgers |8 |- 48 =
180 [F =%z 2,000 |110/04/13 |4+ ¢ rRix 2 Lapgers |8 |- 8 =
181 [A'r & ¥4+ 2,000 |110/04/13 |4+ ¢ rRix 2 Lapgers |8 |28 =
182 |m %+ 2,000 |110/04/14 |4+ ¢ Rix2 Lapgers |8 |- g =
183 [5x4 6,000 |110/04/15 |4+ € PRA%2 L gptcrs |8 |- 4 =
184 |3 &= 300 [110/04/15 |4 € pRAx 2 Lapsers | [- 43 =
185 [#* 4m 4 100 [110/04/15 [4+ € pRix 2 Zepfees |2 |- 48 =
186 |+ % 8 100 [110/04/15 [4+ & pRix 2 Lapfens £ |- 42 2
187 |35 % 100 [110/04/15 [4+ & pRix 2 Lapfens £ |- 42
188 |% lo# 200 [110/04/15 |4+ € pRAx 2 Sapsers | [- 43 2
189 [Fk4p 40 1,000 [110/04/15 |4+ € PRF%:2 L pfces |8 |- 4 =
190 |/5 z4 2,000 |110/04/15 |4+ ¢ PRAx2 Lgpgers |8 |- g =
191 |pess v 200 [110/04/15 |4 € pRAx 2 Sapsers | E (- 43 =
192 |2 2} 200 |110/04/15 |A- ¢ rRix 2 Lgpsers [ |- i =
193 |2 % 4% 1,000 [110/04/15 |4+ € PRF%:2 L pfces |8 |- 4 =
194 [y # 1,000 [110/04/15 |4+ € PRF%:2 Lpfces |8 |- 4 =
195 |3 P73 1,300 [110/04/15 |4+ € PRF%:2 Lpfces |8 |- 4 =
196 |3 %4 1,000 [110/04/15 |4+ € PRF%:2 Lpfces |8 |- 4 =
197 B o 1,000 [110/04/15 [4+ & pRAx2 Epdees |2 |- 4% =
198 |# 14 1,000 [110/04/15 [4+ ¢ pRix2 Epdees |2 |- 48 =
199 |mi2 % 1,000 [110/04/15 |4+ € PR32 Lpdces |8 |- 4 =
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200 |F L i 1,000 [110/04/15 |4+ g PRix® Epdees B |- 4p 2 =
201 [3F %k 1,000 [110/04/15 |4+ g PRix 2 Epderes |[H |- 4p 2 =
202 |F & & 1,000 [110/04/15 [A+ g PRix 2 Ldpdees | B |- 4p 2 =
203 | g 1,000 |110/04/15 |4+ € PR3% 2 Lapkeet |2 |- 48 =
204 |E 5% 1,000 |110/04/15 |4+ € PR32 Lapkeet |2 |- 48 =
205 | 5 1,000 |110/04/15 |4+ € PR32 Lapkees |2 |- 48 =
206 |#F + 500 [110/04/15 |4 & pRIx 2 Lpfens |8 |- 48 =
207 |3 A% 500 [110/04/15 |A- € PRAx %2 L gpfers |8 |- 42 2
208 |3 500 [110/04/15 |4 & pRAx 2 Lpdens |8 |- 4 & =
209 |5 500 [110/04/15 |4 & pRFx 2 Lpfens |8 |- 48 =
210 [z i@ 700 [110/04/15 |4+ & pRan 2 Lapgens (8 [- 48 2
211 [ & 650 [110/04/15 |4+ & pRin 2 Lapgens (8 [- 48 @
212 |#pk 2 650 [110/04/15 |4+ & pRix2 Lapgens (8 [- 48 2
213 ;ﬁﬁ? FEET AN 10,000 [110/04/15 ik g Rk s Bapgems |2 |- e =
214 |5 & 1,000 |110/04/15 [4+ € PR32 2 Eapkees |2 |- 48 =
215 |tk F e 1,000 [110/04/15 [A+ ¢ PRAx 2 Edpderes |[H |- 4nd =
216 [#kw ¥ 500 [110/04/15 |4 & pRAx 2 Lpdees (£ |- 4 & =
217 |[tkE 4 500 |110/04/15 |4+ € rRix% Lipders (£ [- w2 =
218 |#12 F 500 |110/04/15 |+ & pRas2 Zipgees |8 |- a2 =
219 [l iz 500 [110/04/15 |ik ¢ pRax 2 Aipfeet |8 |- & & =
220 [HF & 500 [110/04/15 |4+ € PRAx 2 & gpfers |8 |- 42 2
221 |mg 500 |110/04/15 |k & PRa%% Lipgens |[£ |- ks =
222 |#:4% 4 500 [110/04/15 |4 & pRAx 2 Lpdens |8 |- 4 & =
223 |§l# 500 |110/04/15 |a+ € prasz Lapgees |2 [- 42 =
224 |3 B 500 |110/04/15 |4+ € pRix % Lapgers |[£ |- 48 =
220 | %% % 500 |110/04/15 |At ¢ PR3 % Lspgees [ |- &&=
226 |2 s 500 [110/04/15 |4 & pRAx 2 Apfens |8 |- 4 & =
227 4RI % 500 |110/04/15 |4+ € prasz Lapgees |2 [- 42 =
228 | iRty 500 [110/04/15 |4+ & pRAx 2 Lpfens |8 |- 4 & =
229 L =% 500 [110/04/15 |4+ & pRAx 2 Lpfens |8 |- 4 & =
230 |F B 2,000 [110/04/15 |4+ ¢ pRax2 Lspgees |8 [ g
231 |BF &£ (ER) 1,500 [110/04/15 [+ & PRA%x 2 Zipgees |8 |- 48 =
232 |7 &L 1,000 [110/04/15 [+ g PRIx2 Lpfes |8 |- &% =
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233 |i5 %42 1,000 [110/04/15 |4+ € PRFX% L spdees [ & Frd gk =
234 | =ix 20,000 [110/04/15 |4+ € PRAX 2 L ¥pgees (& ERE 2
235 4k 500 [110/04/15 |4+ ¢ PRI+ % L¥pdces |8 (R & 2
236 | ¥ ¥~ 600 [110/04/16 |4+ € PRFE 3 F Epfees |2 - k5
237 | ¥l s~ 600 [110/04/16 |4+ € PRFE 3 F Epfces |2 - k5
238 |#=< # 100 [110/04/16 [#+ € PRF*% & £pfees |2 - L&
239 |BAFERE 100 [110/04/16 (4 € PRF*2 & £pfees |2 -k
240 |Z 3414 Je »~ 4,632 |110/04/16 |4+ € PRIx2 EEEfces [ & -k
241 | Z 3414 Je »~ 1,950 [110/04/16 [+ € PRF*3 F £pfees |4 -k
242 |34 A Je »~ 488 1110/04/16 |4+ € PRFx%2 F¥pfres | & - K
243 | X 6,000 [110/04/16 |4+ € PRF*3 F £pfces |4 - k5
244 | ERE AR 1,000 [110/04/16 |4+ € PRFX% Fpfees [ & - L&
245 |#R3E B 1,000 |110/04/16 |4+ ¢ PRAx% Eapfees [ |- & =
246 | FAB 300 [110/04/16 |4+ € PRAX 2 F¥pfees [ & -5
247 |iE 2 5% 300 [110/04/16 |4+ € PRIX 2 FH¥pgees [H - L&
248 | R 150 |110/04/16 |4+ € PRIF22 & Epfces |4 -5
249 | & ph 5k 150 |110/04/16 |4+ € PRF22 & Epfces |4 -5
200 3R E = 300 [110/04/16 |4+ € PRIX 2 F¥pfees [ & - L&
201 [HR4E P 50,000 [110/04/16 |4+ € PRIX 2 & pfces [H kN
202 | % 25g 20,000 [110/04/16 |4+ € PRIX 2 Fspfees [H ol R
203 | FaHL 300 [110/04/19 |4+ € PRAX 2 L ¥pgees [ & -5
204 |% ~ % 300 [110/04/19 |4+ € PRIX 2 L ¥pfees [H -5
255 [§ ~ % 200 [110/04/19 |4+ € PRAX 2 F¥pfees [ & S
206 | FxAL 300 [110/04/19 |4+ € PRAX 2 F¥pfees [H S
207 |HpE% 5 1,000 [110/04/20 |4+ € PRFX % Fspdees [ & - E -
258 3R &5 500 [110/04/20 |A+ € PRIX 2 F¥pfees [ & - E -
209 [F AR 500 [110/04/20 |4+ € PRIX 2 F¥pfees [ & -4 E -
260 |2 ¥ 200 [110/04/20 |4+ € PRAX 2 F¥pfees [ & - E -
261 |4k 4c 10,000 [110/04/20 [A+ € PRF:2 & FEfcer |4 - iR
262 |3%& 7J 3,000 [110/04/20 [A+ € PRF:3 & FEfTEr | H_ -4 E -
263 | & Hxp 500 |110/04/20 |4+ ¢ rRix3 Espdees [ [- & =
264 [EHE 500 [110/04/20 |A- € PRIX 2 F¥pfees [ 2 - 4% -
265 |# T @ 500 [110/04/20 |A+- € PRIX 2 F¥pfees [ & -4 E -
266 |¢ &4 500 |110/04/20 |4 ¢ pRix2 Epsees (£ |- && F
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267 | 2547 100 [110/04/20 [#+ € PRF: 3 & £pfees |2 23 RES
268 |ifieTm 100 [110/04/20 |4+ ¢ prax2 L ipsens |8 |23 Brd 2
269 |F ¥ & 750 [110/04/20 |4+ € PRFE 3 F Epfees |2 ZTRL
270 |54 H(FEALE) 100 [110/04/20 |4t ¢ pRix2 Lpsers |8 |2 %2 2
271 [++- & 5,000 [110/04/20 [#+ ¢ prix2 Lipsers |8 |T %2 2
272 |4k 3 3,000 [110/04/20 |4 ¢ PRix% Lipers |2 [z &~
273 R 12,000 |110/04/20 |A+ € PRFx 2 F EEfces [ & ZTRL
274 |F 3 & 750 [110/04/20 |4+ € PRFE 3 F Epfees |2 B
275 |tk 3,000 [110/04/21 [i+ ¢ prax2 Lipsers |8 |- 42 2
276 |4k 2t 3,000 [110/04/21 |A+ € PRAx2 FHEEfces [ & - L&
277 |t £ ¥ 17 3,000 [110/04/21 |4+ € PRF:3 E EEfces | H_ - L&
2718 [ ¥ % 3,000 [110/04/21 |+ € PRAx2 FEEfces [ & - L&
279 |magit 500 [110/04/21 |4+ € PRAX 2 F¥pfees [ & - L& 2
280 |MiEsk 500 [110/04/21 |4+ € PRAX 2 L ¥pgees [ & - L&
281 |[FR £7d 500 [110/04/21 |A+ € PRAX 2 FH¥pfees [H - L&
282 |3 %+ 500 [110/04/21 |4+ € PRAX 2 F¥pfees [ & - AP
283 |3 ®Y 500 [110/04/21 |4+ € PRAX 2 L ¥pfees [ & - L& 2
284 | =& 2 100, 000 [110/04/21 |4+ € PRAX 2 & spgees [H 2 RS P
285 |% 47 400 [110/04/21 |4+ € PRIX 2 L ipfees [ & R 5
286 | &P i 100, 000 [110/04/22 |4+ € PRAX 2 & pdces [H - L&
287 |#R~Fr 1,000 [110/04/22 |4+ € PRFX% Fspfees [ & - L&
288 |#F2 7 500 [110/04/22 |A+ € PRIX 2 L ¥pfees [ & - L& 2
289 [ 3% 500 [110/04/22 |A- & PRz % Lipdees |8 |- & & 2
290 |[735 4 300 [110/04/22 |A- & PRz % Lipders |8 |- & & 2
291 (4P 2,000 |110/04/22 |4+ ¢ rRar2 Lipdees (£ |ing g =
292 |# iz 4F 500 [110/04/22 |A- & PRz % Lipdees |H [ Ek 2
293 [mP 1 2,000 |110/04/23 [+ ¢ rRar2 Lipdees (£ |- &% =
294 (B9 2,000 |110/04/23 [+ ¢ rRar2 Lipdees (£ |- &% =
295 [zFp & 200 [110/04/23 |4+ € pRix 2 & gpfers |8 |- 42 2
296 [zFm Y % 100 |110/04/23 |4 ¢ pRss2 Lpees | B |- 42 =
297 |4 100 |110/04/23 [# ¢ Rix % g |8 [- & & »
298 [2 % 100 |110/04/23 [# ¢ pRix % gkt |8 [- & »
299 |[zF:z 200 |110/04/23 |A- ¢ pRar 2 Lepsees (£ |- 4 =
300 |2 £.3% 200 [110/04/23 |A- ¢ PRz % Lipfers |8 |- & & 2
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301 [§nx % 400 [110/04/23 [A+ € PRG* 3 & gffces (4 - K
302 |Hrig 700 1110/04/23 |A+ € PRI:2 & Epgces | & - kP
303 [=F 1A 9x 1,463 |110/04/23 [A+ € PRF% 3 & gffces (4 - kP
304 |3l A e~ 5,362 [110/04/23 |4+ € FRFx% & gdces | & - k5
305 |3 Az~ 3,169 [110/04/23 |4+ € FRGx% & $gdces | & - k5
306 |F % iz 10, 000 [110/04/26 |4+ € FRFx% & ggdces | & - k5
307 |Fh R 100 1110/04/26 |4+ € PRIFx2 F Epfces |4 -k
308 [#* 4 F 100 1110/04/26 |4+ € PRIFx2 F Epfces |4 -k
309 [ F& 100 {110/04/26 |4+ € PRFx% & gdces | & -k
310 [+ &8 100 1110/04/26 |4+ € PRIFx2 F Epfees |4 - K
311 [+ &8 100 1110/04/26 |4+ € PRIFx2 F Epfces |4 - k5
312 I‘ﬁ'}’ﬁ“iﬁ» 100 {110/04/26 |4+ € PRFx% & $gdces | & -k
313 |m3F 2 100 [110/04/26 |4+ € PRFx2 & $fdces | & -5
314 |* xﬁi* 100 [110/04/26 |4+ € PRFx% & $gdces | & -5
315 X% 4k 100 [110/04/26 |4+ € PRFx% & $fdces | & -5
316 (2 £ & 5,000 [110/04/27 |4+ € PRFx% & $Edces | & -5
317 [F 73 5,000 [110/04/27 |4+ € PRFx2 & $Efces | & -5
318 |% = A 500 [110/04/27 |4+ € PRIX 2 F¥pfees [ & -5
319 [mEH 500 [110/04/27 |4+ € PRIX 2 F¥pfees [ & -5
320 |F & i 500 |110/04/27 |+ € PRI:2 F Epgces | & -5
321 |3k 7 H 500 [110/04/27 |4+ € PRIX 2 L ¥pfees [ & -5
322 |3F2 % 500 [110/04/27 |4+ € PRIX 2 L ¥pfees [H -5
323 | X (2 R 500 |110/04/27 |+ € PRIx2 F Epfces | & -
324 |E 72 500 |110/04/27 |A+ € PRI:2 F Epgces | & -
320 |9 2 500 [110/04/27 |4+ € PRIX 2 Fdpfees [ & -
326 Mtz 300 [110/04/27 |A+ € PRAX 2 F¥pfees [ & -
327 M= & 10,000 [110/04/27 |4+ € PRFx% L ¥gdces | & -
328 |#Rgfri 400 [110/04/27 [4+ € PRI* 3 £ gpfres (4 -
329 [tk 400 [110/04/27 |4+ & pRir® dphent |[£ |- 48 2
330 |#R7E & 400 [110/04/27 [4+ & PRI* 3 E gpfres (4 -
331 |3RE & 400 [110/04/27 |4+ € PRIX 2 F¥pfees [ & -
332 |@RY iR 400 [110/04/27 [4+ € PRIx 3 E gpfres (4 -
333 |tk 4 i 500 |110/04/27 |A+ € PRIx2 F Epfces | & -
334 |4 K+ 500 [110/04/27 |4+ € PRIX 2 F¥pfees [ & -
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33 |G g EF 2P 200 |110/04/27 |4+ € pRax 2 Lapgens |2 [- 48 =
336 |§ = 4F 300 [110/04/27 |Ar ¢ pRar2 &apsces |2 [vdmd =
337 |tkdm B 1,000 [110/04/28 [4+ ¢ pRAx2 Lopkeres |[H |- 4 =
338 |tk 1,000 [110/04/28 [+ ¢ PRI % Lgpfees |8 |- 4 & =
339 |F 314 e 5,851 |110/04/28 |4+ & pRix2 Liptees [£ [ 48 2
340 | = 14 e 10,725 |110/04/28 |4+ & pRix2 Lipdees (£ [~ 48 2
341 | % kAT 375 [110/04/28 |4+ ¢ PRA*+ % L gifees | |- i 2
342 |+ F % 375 1110/04/28 |4+ € pRis 3 Espfers (8 [- w2 =
343 ¥ #48 375 [110/04/28 |4+ € PRix 2 Lipsens |8 |- 48 =
344 |% e 375 [110/04/28 |4+ € PRix 2 Lipsens |8 |- 48 =
345 |3 % 300 [110/04/28 |4+ € PRix2 Lipsens |8 |- 48 =
346 | % & 3,000 |110/04/29 |4+ & pRAx2 Lipens |8 [ 48 2
3T |t 8 500 [110/04/29 |4+ ¢ PRix2 Eipgers |2 |- 48 =
348 |2 15 10,000 [110/04/29 |4+ ¢ PRA% 2 Eipsees [ |- 48
349 |&H 7 & 3,000 |110/04/29 |4+ & pRix2 Apfens |2 [~ 48 2
350 |2 % &% 2,000 |110/04/29 |4+ & pRAx2 Apdens |2 [- 4 2
351 |74 1,200 [110/04/29 [Ar ¢ prarz Lapkeres |8 |- 42 »
352 |#F F 2 100 |110/04/29 |4+ pRi%x2 Sipkees (£ [- 48 2
353 |macH| 100 [110/04/29 |4+ & PRF% % Eidpsees (£ |- 48 2
354 |3 Ag¥ 100 |110/04/29 |4+ & pRix2 Sipkees (£ [- 4 2
355 |@* 5 fe 100 |110/04/29 |4+ & pRsx2 Sipkees (£ [~ 48 2
356 |F% 100 [110/04/29 |4+ & PRF% % Eipsees (£ |- 48 2
357 |FH% 100 [110/04/29 |4+ & rRix 2 Lapfees £ |- 4%
358 | #gk 100 |110/04/29 |4+ pRix2 Eipkees |2 [- 4 2
359 |Z 14 3,412 [110/04/29 |4+ & PRF% % Eidpsees (£ |- 48 2
360 3%+ 4% 1,000 [110/04/29 |4+ ¢ pRix2 Sipsees |8 |22 =




